## ICAR-CENTRAL INSTITUTE FOR RESEARCH ON COTTON TECHNOLOGY

(INDIAN COUNCIL OF AGRICULTURAL RESEARCH), ADENWALA ROAD, MATUNGA, MUMBAI-400019. TEL NO.: 2412 7273/76, 2418 4274/75, 2415 7238

Email ID:-director.circot@icar.gov.in

Date: 30/08/2023

## NOTICE INVITING E-TENDER No. 6 /2023-24

The Director, ICAR-Central Institute for Research on cotton Technology, (Indian Council of Agricultural Research), Adenwala Road, Matunga, Mumbai., invites online Percentage Rate based E-Tenders from approved and eligible contractors registered with Government organizations such as CPWD, state PWD, MES, Railway, P & T, Public undertakings, Nationalized banks etc., by e-tendering process for the following work:-

1.	NIT No.	NIT. No.6/ E-Tenders-Works/ICAR-CIRCOT/2023-24
2	Name of Work	Providing Internal repair and painting works in the rooms, passage area of first floor of Yashwantrao Chavan building (ORL) of ICAR-CIRCOT at Matunga, Mumbai.
3	Estimated cost put to tender	Rs. 5,30,926/-
4	Tender fees (Rs.)	Rs. 500/-
5	Earnest money deposit	Rs. 10,700/-
6	Period of Completion	30 (Thirty days)
7	Last Date & Time of submission of e-tender, and other documents as specified in the tender	Date: 13-09-2023 Time: 15.00 hrs.
	Time & Date of Technical bid opening of tender	Date: 15-09-2023 Time: 15.30 hrs.

- 1. The intending bidder must read the terms and conditions carefully. He should submit his bid if he considers himself eligible and he is in possession of all the documents required.
- 2. Information and instruction for bidders posted on website shall form part of bid document.
- 3. The bid document consisting of Plans, specifications, the schedule of quantities of various types of items to be executed and the set of terms and conditions of the contract to be complied with and other necessary documents can be seen and downloaded from website www.circot.res.in or www.eprocure.gov.in free of cost.
- 4. Only on-line bids through NIC's e-procurement Portal (CPPP) i.e on

## File No.10/Engg./CIRCOT/Interanlrepairandpainting/roomsandpassagearea/YCBIdg./2023-24

www.eprocure.gov.in shall be accepted.

Sujatha Koshy Senior Administrative Officer

Estimate:

Name of work: - Providing Internal repair and painting works in the rooms, passage area of first floor of Yashwantrao Chavan building (ORL) of ICAR-CIRCOT at Matunga, Mumbai.

	ı	T	1	1	T	1
	Item					
Sr.	no (As		Unit	Quantity	Rates	
	per	Description of Item				Amount
No	CPWD	, , , , , , , , , , , , , , , , , , ,			(Rs)	(RS)
	DSR-					
	21)					
	15.26	Dismantling old plaster or skirting raking out				
1		joints and cleaning the surface for plaster				
		including disposal of rubbish to the dumping ground.	Sq.mt	400	45.05	18,020.00
		Repair to plaster of thickness 12mm to 20	5q.iiit	+00	43.03	10,020.00
		mm in patches of area 2.5 sqm and under,				
		including cutting the patch in proper shape,				
_	4475	raking out joints and preparing plastering				
2	14.75	the wall surface with white cement based				
		polymer modified self-curing mortar,				
		including disposal of rubbish, all complete				
		as per the direction of Engineer-In-Charge.	Sq.mt	180	540.35	97,263.00
	13.3.1	20 mm cement plaster of mix : 1:4 (1				
3	15.5.1	cement: 4 fine sand)	Sq.mt	220	402.15	88,473.00
	13.26	Providing and applying plaster of Paris putty				
4		of 2 mm thickness over plastered surface to				
		prepare the surface even and smooth complete.	Sq.mt	430	214.30	92,149.00
		Removing dry or oil bound distemper by	5q.iiit	+30	214.50	32,143.00
5	13.91	scrapping and sand papering.	Sq.mt	820	20.85	17,097.00
		Applying one coat of cement primer of				
6	13.43	approved brand and manufacture on wall				
		surface.	Sq.mt	820	64.45	52,849.00
		Wall painting with acrylic emulsion paint of				
		approved brand and manufacture to give an				
8	13.60	even shade :				
		(Asian Paints Apcolite)				
		13.60.1 Two or more coats on new work	Sq.mt	870	137.85	1,19,929.50
	42.00	Painting with synthetic enamel paint of				
9	13.99	approved quality  One or more coats	Sq.mt	90	86.55	7,789.50
		13.103 French spirit polishing :	34.1111	90	80.33	7,789.30
10	13.103	13.103.1 One or more coats on old work	Sq.mt	30	185.40	5,562.00
		Providing and fixing 18/20 gauge wire mesh	oquite		103.40	3,302.00
		with opening of 25mm x 25mm or less as				
	MR	approved over junction of RCC, brickwork or				
11		any other similar material and nailing the				
		same as per the direction of engineer in				
		charge .	Sq.mt	140	125	17,500.00
		Repair, providing and fixing of existing				
12	2 MR	broken tiles in skirting in C.M. 1.3 as per the				
		direction all complete	Sq.mt	6	920	5,520.00

		similar unserviceable, dismantled or waste materials by mechanical means, including loading, transporting, unloading to				
13	15.60	approved municipal dumping ground or as approved by Engineer-in-charge, beyond 50 m initial lead, for all leads including all lifts				
		involved.	Cu.mt	40	219.35	8,774.00
	Total Amount (Rs.) 5,30,926.00					

<u>Total amount in words: - Five Lakh Thirty Thousand Nine Hundred and Twenty-Six Only)</u>

Sujatha Koshy Senior Administrative Officer